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Note : 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. For Q. No. 4 (A) use supplied outline map and tie it to your answer-book.
4. For Q. No. 6 (A) use the graph paper supplied to you and attach it to the main
answer book.
5. Draw neat diagrams and sketches wherever necessary.
6. Answers should be written in Black and Blue ink only.

Q.1 Identify the correct correlation and make a chain : 4
Column A Column B Column C
1) Ganga river 1) Pau Brasil a) trees shed their leaves
2) Amazon river 11) sediments deposit b) there are islands as its mouth
as its mouth
3) Brazil 1i1) teak trees c¢) country named after it

4) Deciduous forests 1v) no sediments at the mouth d) distributaries at the mouth

Q.2 Choose the correct option and re-write the sentence : 4
1) The delta of Ganga-Brahmaputra system is known as ..................
a) Oron b) Prayag ¢)Sindh d) Sundarbans

2) The .......... plateau lies at the eastern foothills of Aravalis.
a) Mewad b)Malwa c)Bundelkhand d) Deccan

3) Brazil’s average population density is around .............. persons per sq. km
a)23 b)29 C)32 D)42

4) One-horned rhinoceros is found in the state of ........... in India.
a) Maharashtra b) Tamilnadu c) Assam d) Kerala

Q. 3 Identify the correct option with the help of the given statement : (Any FOUR) 4
1) The order of physiographic units in Brazil while going from North-West to South-East.
a) Parana River basin- Guyana Highlands- Brazilan Highlands
b) Guyana Highlands- Amazon river basin - Brazilan Highlands
c) Coastal Plains - Amazon river basin- Brazilan Highlands

2) It is the rain shadow region in Brazil.
a) Pampas b) Northern part of the highlands c¢) Amazon river basin

3) State which is least urbanized in Brazil.
a) Para b) Parana c¢) Amapa




4) The leaves of the trees are broad and green
a) Deciduous forests b) Evergreen forests c¢) Himalayan forests

5) The rivers of India are south-east flowing
a) Satluj-Chenab-Beas b) Ganga-Yamuna-Gomati c¢) Kaveri-Krishna-Godavari

Q. 4 (A) Mark the following in the outline map of India. Write the names and give
index. (Any FOUR) 4
(1) West Bengal (2) Tropic of Cancer
(3) Karaikal (4) Delhi
(5) Indira Point (6) Himachal Pradesh

(B) Observe the map of Brazil and answer the following questions : (Any FOUR) 4
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Questions-

1) Which is the largest river basin in Brazil?

2) In which direction does Paraguay River flow?

3) River Sao Francisco meets which ocean?

4) Marajo Island is located near the mouth of which river?
5) Write the names of any two north-flowing rivers.

Q. 5 Give geographical reasons : (Any TWO) 6
1) The density of population is sparse in Amazon basin.

2) Development of transportation 1s useful for overall development of country.

3) It is an important to manage the waste generated during field visit.




4) A wide variety of species of insects is found in Brazil.

Q. 6 (A) Draw a suitable Line graph with the help of following statistical informati-
on and answer the following questions : 6

Number of international tourist (in lakhs)
Country/Year 1995 | 2000 | 2005 | 2010 | 2015

Brazil 20 50 45 40 50
India 20 21 30 50 140

Questions :

1) In which year is the number of tourists maximum in India?

2) In year 2000, how many tourists visited Brazil?

3) In which year India and Brazil have the same number of international tourists?

OR
(B) Read the given pic-charts and answer the following questions :
Brazil India
’ 17
27.5
67
57 26
Contribution of sectors inlGDTP (2096)
'g 26.9

24.3

Percentage of population engaged in various sectors (2016}

M Primary Seromdary Tortioy

Questions :

1) Which country has a higher percentage of population engaged in primary activities?
2) In which country is the contribution of tertiary sector greater in the GDP?

3) In which country is the share of secondary activities more in the GDP?

4) Can we say that Brazil is an agrarian economy like India? Give reasons.

5) What is the percentage of people engaged in the secondary sector in Brazil?

6) Which country has only 10% of the population engaged in Primary sector?

Q. 7 Answer the following in details : (Any TWO) 8
1) Why do human settlements grow in specific locations only?

2) Write about the factors affecting the climate of Brazil.

3) Write notes : Modern means of communication
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